COMPETITIVE EXAMINATION - 2016

DATE SUBJECT SUBJECT CODE TIME
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MARKS DURATION ANSWERING
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MENTION YOUR REGISTER

NUMBER QUESTION BOOKLET DETAILS

QUESTION BOOKLET SERIAL NO. & VERSION NO.
07- A

DOs:

1.

Check whether the Register No. has been entered and shaded in the respective circles on the OMR answer
sheet.

2. Check whether the Centre Code has been entered and shaded in the respective circles on the OMR answer
sheet.

3.  Check whether the subject name has been written and the subject code has been entered and shaded in the
respective circles on the OMR answer sheet.

4.  This question booklet will be issued to you by the invigilator after the 2" “ bell i.e., after 1.55 pm.

5. The serial number of this question booklet should be entered on the OMR answer sheet.

6. The version number of this question booklet should be entered on the OMR answer sheet and the respective
circles should also be shaded completely.

7. Compulsorily sign at the bottom portion of the OMR answer sheet in the space provided.

DONTs:

1. The tlmlng and mark’s printed on the OMR answer sheet should not be damaged / mutilated / spoiled.

2. The3“Bell rings at 2.00 pm, till then;
® Do not remove the seal on the rlght hand side of this question booklet.

* Do not look inside this question booklet.
® Do not start answering on the OMR answer sheet.
IMPORTANT INSTRUCTIONS TO CANDIDATES

1. This question booklet contains 100 questions and each question will have one statement and four distracters
(Four dlfferent options / choices.)

2. After the 3 Bell is rung at 2.00 pm, remove the seal on the right hand side of this question booklet and check
that this booklet does not have any unprinted or torn or missing pages or items etc., if so, get it replaced by
complete test booklet. Read each item and start answering on the OMR answer sheet.

3. Durlng the subsequent 180 minutes:

Read each question carefully,
e Choose the correct answer from out of the four available distracters (options / choices) given under each
question / statement.
e Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the question
number on the OMR answer sheet.
Correct Method of shading the circle on the OMR answer sheet is as shown
below:

4. Please note that even a minute unintended ink dot on the OMR answer sheet will also be recognized and
recorded by the scanner. Therefore, avoid multiple markings of any kind on the OMR answer sheet.

5. Use the space provided on the question booklet for Rough Work. Do not use the OMR answer sheet for the™
same.

6. After the last bell is rung at 5.00 pm, stop writing on the OMR answer sheet and affix your left hand thumb
impression on the OMR answer sheet as per the instructions.

7. Hand over the OMR answer sheet to the room invigilator as it is.

8.  After separating the top sheet, the invigilator will return the bottom sheet replica (candidate’s copy) to you to
carry home for self evaluation.

9. Preserve the replica of the OMR answer sheet for a minimum period of ONE year.

10. In case of any discrepancy in the English and Kannada Versions, the English version will be taken as final in

case of Compulsory Paper — Il and Optional Papers, except the languages of optional paper.
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According to Hullian theory, under the pressure of needs and drives, the organism undertakes :
(A) Adaptive actions (B) Learning by foresight
(C) Learning by hindsight (D) Transfer of training

BUTET %m@oécﬁ &,390 8;9?\’353" Y BRT[ING W3EEE) BeAoIW  [PNTE

03395) TOTTR 2WOTRY 'cz)ﬁ\fa%fi)égé’.
(A) BROWBZOD ToONENH  (B) T0RRLVT 3OF

(C) WRdpesw 303 (D) =3T23e303 SO
Which of the following factor is associated with Jealousy ?
(A) Anticipation (B) Love
(C) Hate (D) Fear by loss
FFNT 03PHT m§®€£Eo&ﬁ OWORAT ?
(A) ©hed, (B) 283
© Z%Ga’ (D) B’%?ZSJ%?JD%%ES Jo®
Compared to close friendship, Romantic relationship have greater
(A) Stability (B) Trust
(C) Volatalit (D) Acceptance
m@%@%cﬁ@o@ﬁ edamon %@3& ﬁowocﬁd@ £23%ﬁd>§d’.
(A) %dé’ (B) o3
(C) TRCIDODTITZ (D) @DTIES (ALFR)
Match the following:
A B
1. Depth perception a. Muller-lyer
2. Constancy b. Figure ground
3.  Gestalt c. Three dimensional vision
4. TIlusion d. Perceived and retinal size
(A) Ic,2b, 3d, 4a (B) 1a,2d, 3b, 4a
(©) 1d, 2c, 3a, 4b (D) 1b, 2a, 3d, 4c
BROQY 2TAND.
A B
1. 0393 @3é%m&§ a. mgU@-é’)OSJUQ
2. 9363" b. eﬁ%ﬁ%-%@%
3. ﬁ‘mu@*; c. O3 G
4. ag)fn d. 0LINAT 533_.; Bedexer® m%
(A) Ic,2b, 3d, 4a (B) 1a,2d, 3b, 4a
(C©) 1d, 2c, 3a, 4b (D) 1b, 2a, 3d, 4c
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The terms drive reduction and sign gestalt are associated with :
(A) Maslow and Wertheimer (B) Hull and Koffka
(C) Hull and Tolmon (D) Maslow and Kohler

AN ADICIAISIC I 73056 ﬁ‘mﬁe}; TN 7Y F0WOHT.
(A) mﬁ,@e NG wé’égﬁw@ (B) B 03 oo,

(C) B DR DT (D) BRRERE B Epego’

Two friends X and Y are unable to remember the street. X states that the name of the street
is probably based on the name of a poet. Hearing this Y correctly remembers the name of
the street. This is an example of :

(A) Free recall (B) Cued recall

(C) Implicit memory (D) Relearning
X 302 Y BeeZ0e)00 2,00 THOD TBATR, MHTOIFL AFOTIMHTIT. X & THOZ0 2oy
TFOD &%’d@l ﬁm@@agaﬁ’ QROT %%@3. BRBSe Y O‘:N:OSJ &%’daﬁg’l 25%&%@@%%333.
QI i QLTTTS.

(A) %;30% @Sﬁéds‘é’ (B) mne®S @’)3%’@69%
(C) wosons Tw’ée):% (D) RO
The principle used in developing a trigram is :
(A) ABC (B) ABAB
(C) ABA (D) CvC
P eI UDZS%U@O?ST\’@J@{ TR 0359 Qoﬁﬁaw@l ww@amgcﬁ ?
(A) D (B) QDN
(OIALY (D) 2%

Fishbone technique is used to :
(A) Enhance team performance
(B) Measure organizational culture
(C) Determine the real cause of the problem

(D) Enhance leadership behaviour
2T LIeeTt Clelcivavy aEALINGRIgvicial

(A) SOBT TONE NITE BHBODTY, THERELD
(B) ®ozFEIT0 ROR, ;30D WNTS DT/
©) Tw’ﬁ)?%oﬁ: 3025 TITLITTY, VFEOTED

(D) o0TE, BIERODNY, WRERD
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10.

11.

12.

In a normal distribution when the mean is 50, the corresponding Z score is :
mm%f—w’omﬁﬁ TAHTEITE) oIRD3D 50 e;?ﬁzg@ Z w.—s‘ae)éa;) SNTOIT.
(A) O B) 1
(C) 50 (D) 3

Non-parametric test equivalent of ANOVA is :

(A) U-test (B) Chi-square test

(C) Run-test (D) Kruskal-Wallis test
WZ0e3 1} ORI WTT2W 0D TOeF, 030

(A) Ua’ae% (B) 8%, P’ a’ae%

(C) T a’@e% (D) BR9,of-m00%° aaeg

A teacher finds that her students who are good in extracurricular activities score less in
terminal examinations. If she computes correlation, the obtained correlation would be :

(A) Zero (B) Positive

(C) Inverse (D) Non-linear
e é'u;%oiw 366636 zﬁé&aﬁ&@ﬁ%ﬁ@ YVZNTINTOIETO aﬁamédtﬁ 36@%053@ YOI
WOBNYI TJRONTeE QTOTYH TY, ﬁado%ib@gé’. QTITY ABDAOLIOFITY E?o&b&@ﬁé}6 &3
TBROWOP) eﬁﬁdogd’.

(A) Bn3, (B) Faog3s
(C) Qednesd (oDmwod) (D) é’eéméée‘wg

You are invited to join a group as a member. On your agreement to do so you’re asked
gradually to bring in ten more members, to stay with the group for lifelong, and to donate as
much as you can for the group. This phenomenon is :

(A) Foot in the door (B) Low ball technique

(C) Exploitation (D) Passive obedience technique
IR, THORT BB Z, STUNAINT. e, 2RTOD e AFoTemoN Ae,[Y ‘IR
T BITY Tw’a'ﬂ’édmdﬁ TIVHEELD, CTIBHONTIN Tm’dﬂ’émﬁtﬁ@a, @e_::% mqﬁéé"@@ 8:93’%
@@C‘s’aﬁojacﬁgl T-Jowé’& VTN BRCTLRTOTYT. B3 FIDOIN

(A) P)e3® ax® & BT (B) e et 203,

(C) Boexs (D) 3%@5) DBIAITE B0,
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13.

14.

15.

Psychologist who have extensively studied group conformity are :

1. Lewin 2. Thurstone 3. Asch
4.  Festinger 5. Kructchfield

(A) 3and5 (B) 1,3and5

(C) 2,3and4 (D) 1and4

WO WRRTBODTY, DEFFE N V0T [PRTLD ﬁa:&@@é’)@gﬁ%@ MoTO8R.

|G 2. FoOSER® 3. &
4. Prowo? 5. Btpes

(A) 335 (B) 1,335

(C) 2,333 4 (D) 1»34

Attitude change in the direction that is opposite to that of the one advocated is known as :
(A) Halo effect (B) Boomerang effect
(C) Purkinje effect (D) Ziegarnick effect
Jo2udn @i)@oﬁad 3%&%3@?\ eVoEIITVE 333@@2;)@0336 wdwﬁré’oﬁaaﬁgl -
DOTH TBEFLIMOIT.

(A) @éei@e GSFAD (B) 2000000M® FrIees
(C) B0 [ (D) z?wmbﬁs'@ GSFADN

Cognitive developmental stages were developed by
(A) Piaget (B) Freud
(C) Kohlher (D) Adler

HORTIZ,T WTIXNT TOSNFRY TOTOSATITO

(A) 20323 B) @Oﬁg
(C) 3Bwegof (D) ot
Space For Rough Work



16. Match the following :

A B

1. Piaget a.  Psychosexual

2.  Freud b.  Psychosocial

3.  Kohlberg c.  Cognitive

4.  Adler d.  Moral
(A) Ic, 2a, 3d, 4b (B) 1b, 2c, 3b, 4a
(C) 1d, 2b, 3c, 4a (D) 1a,2b, 3d, 4c

TRODR 2TAWD.
A B

1. o3 a. ﬁaa"weeg)pﬁf?

2. FOIE b, SRecmozIels

3. deefunte  c. RHOWPTTT

4. 5ot d.  3gs
(A) Ic, 2a, 3d, 4b (B) 1b, 2c, 3b, 4a
(C) 1d, 2b, 3c, 4a (D) 1a,2b, 3d, 4c

17. According to Erikson, which stage results in a sense of independence because of one’s
ability to control their own actions ?
(A) Trust versus mistrust (B) Autonomy versus shame and doubt
(C) Initiative versus guilt (D) Generativity versus stagnation
DOFTETHT B30T 030 T0,5 eﬂdé’oﬁa T9,Pe0T i)éﬁ&% o3RI ?
(A) é’)m;,—w’ &tﬁacg @&mﬁ%’
(B) ?%oﬁagé’ QTG RRETL T HOTo
(C) T™OTLHENT QTG TITTIOT,

(D) RIS DTG g3

18. The presence of a trait every time the gene for that trait is present is due to

(A) Recessive (B) Sex-linked
(C) Polygenic (D) Dominant
0339 230TeTE03N T;32TVDO3W @Eé&ﬁm%’%%d’oﬁm@ &3 T @%S@@ TITLROR
Elpercing
(A) 67'3%556 (B) 7363 @OEg
(C) =OEAE (D) TeoR0E3®
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19.

20.

21.

22.

23.

Biological predisposition in the development of language was emphasizes by

(A) Broka (B) Wernicke

(C) Chomsky (D) Darwin
tAPED) 23%33957?053@ 83623%‘ RPDEBTSET

(A) dpgs (B) @=e3®

(O) woas (D) TNER®

The prisoner’s dilemma is used to study
(A) Co-operation and competition (B) Affiliation and attraction

(C) Need complementarity (D) The auto kinetic effect
QATOY, C%pﬁmﬁaig{ @cjéoﬁafd@ WFRTIMITY) .
(A) ATTIT DR T«j}p"? (B) T-«J;QS agaodﬁé I IR

(C) engod IPordoHS (D) wednedRess® Bpn

is best known for his research on conformity.

(A) Asch (B) Rubin
(C) Schachter (D) Zimbardo
TR WRIRTH ROBRCHIN BATITIIOIIDBRTY.
(A) @z (B) T
© m%'o:p@ (D) 2R0oRBRE

Which of the following group is based on social comparison ?
(A) Focus (B) Personal Identification
(C) Reference (D) Comparison

B IYNT 09T THOFT) IR T BRCOFTOD SITHRY BROOT ?
(A) i?@o@)é (B) wgn’s TSN
(C) T3S (D) JBned3

The person who agrees to a small request initially is more likely later to comply with a
larger demand. This describes the

(A) Door-In-The-Face-Effect (B) Foot-In-The-Door-Effect

(C) Low-Ball Technique (D) High-Ball Technique
RBPTOT Tu’ssa@ NJ03N aqég;&ra%f%s ﬁééoiw Relcie] Zﬁ.@Cg Jea3n Tw’ﬁaé%foégﬁ QB
L BRI ORYTI.

(A) BT ax® © Poa® (B) R)E3° o’ © Beest
(C) SBne-23ef (D) %—meﬁ
Space For Rough Work



24.

25.

26.

If everyone leaves five minutes before the game is over to avoid a traffic jam, the resulting
traffic jam would be an example of

(A) Social Impregnation (B) A Social Trap

(C) Group think (D) Self-Handicapping
ROWITT CD’%?@QOSD@ SIRED %@O&E%ﬁ) 20T ANR 30023030¢ BRTHITTY. ATO0T
SIFNTIIN WOWRTH dégss‘g LVOEIIMOEY 0. “adé’& 20T YVTOBTH.

(A) FOTIRT QOBTILTI® (B) A0e330833 el
(C) m™oF) 08ee3I (D) ®o30 BOMNIVIS

A salesman is given a bonus on the completion of every year of service. The reinforcement
schedule used in the case is :

(A) Fixed ratio (B) Variable ratio

(C) Fixed interval (D) Variable interval
202y, M piepiXiapierla] T8 DJRE DY THOTRITTRRPATIN WIS 3@63@3?13%55’. 3
ARRCBTEEY YT WU RO, WIRTMIT.

(A) And2 ESRANDI0 (B) =0=eee Tooes
(C) NS =Y (D) TDWIET ToRTH

Arrange the following in correct sequences :
(A) Crying, Babbling, Telegraphic speech and cooing
(B) Crying, Cooing, Babbling and Telegraphic speech
(C) Cooing, Crying, Babbling and Telegraphic speech
(D) Crying, Babbling, Cooing and Telegraphic speech
83 IFNTYNTE 03Y 0 OO T ﬁ@@@ﬁ%@éd’ ?
(A) DY, BRTLH®, BT S, ORI
(B) &RDYT, BOSFTOERYT, ST, L3OM,TFE w5
(C) BOBFTHERYW, VDY, SRTLYHW, LOMRTE T3

(D) DY, IRTLRHI, DOTF ORI, HOMEF S0

Space For Rough Work



27. Identify the correct sequences :
(A) Formal operations, Preoperational, Concrete operations, Sensorimotor
(B) Sensorimotor, Concrete operations, Preoperational, Formal operations
(C) Preoperational, Sensorimotor, Concrete operation, Formal operations

(D) Sensorimotor, Preoperational, Concrete operations, Formal operations
AOOIVT WIVTEVERY TOTISA.

(A) BRes0DT $05038,33, BETE $,0393,33, IREF 3,03793,33, Hoert U
(B) Roser w00, ADEF $,0393,83, BwE 3,033,353, Bam08 3,033,383
(C) TpsE 30393,33, BoReR wPUS, IDEF 303703,33, Bamds 3,033,353
(D) Roser PO, PTE §0393,83, IVE R 3,03703,33, Bam03 3,033,353

28. Match the following :

A B
a. R.B. Cattell 1. Specific nerve energy
b.  Johans Muller ii.  Personality
c. JM. Cattell iii.  Interference theory
d.  Georg Elias Muller iv. Intelligence

a b C d
(A) iv il i i
B) i iv i i

© i i v il
D) i i v i
BROD LTBOWD.
A B
a. &0t ST L Qlegy ITSon 33
b. 22ezoxf, @00’ i S8
c. 0. T iii. wg%ew 2308
d. s QOCIWAT @oYT® v, QB
a b c d
(A) iv i 1 1
B) 1 iv i i
© i i v il
D) i i v i
Space For Rough Work
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29.

“Controlled Group” is a term used in

(A) Survey research (B) Historical research

(C) Experimental research (D) Descriptive research
3 NI oﬁm@dzﬁe} 30330%3 OO w%"m’wmgd’ ?

(A) RXeE HoBeegd (B) 203303 R030e3

(C) =,03peNT FoBRers (D) =03, T Efel¥oRat

30. Testing hypothesis is a/an
(A) Inferential statistics (B) Descriptive statistics
(C) Data preparation (D) Data analysis
TBOR B[O, 030
(A) S3E %Zg Tw’O@JDaSE’m_S; B) é’)wdmééb" m’omém—g;
(©) wz3 ;%Cgéo’ (D) @Yoz DIeRB
31. Which of the following is non-probability sampling ?
(1)  Snowball (i1) Random
(ii1)) Purposive (iv) Stratified
(A) Only (i) (B) Both (i) and (iii)
(C) Both (ii1) and (iv) (D) Both (i) and (iv)
83 FIINIYINTE 0350537 eﬂ‘w’omﬁém B,8WONT ?
(i) =T IRV (11) omcg)ag)a’ DRI
(i) ©VZedT Fehed (iv) Dz [P
SO
(A) (1) =9, (B) (i) 302 (iii) TR
(©) (i) &0 (iv) HTER (D) (i) 302 (iv) NTER
32. One of the following is not a life style diorder :
(A) Diabetes (B) Malaria
(C) Hypertension (D) AIDS
FPNT O3YT RS 7?33?) SDB’Q’):%OSJQ ?
(A) ®OIPVST® (B) &>3edosm»
© %7369&3%36 D) QT
Space For Rough Work
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33.

34.

35.

36.

One of the following is not a barrier to health behaviour modification :
(A) There is little immediate incentive for practicing health behaviours.
(B) Health behaviours are unstable.
(C) Factors controlling health behaviour may change over life time.
(D) There is strong motivation to follow health behaviour.

e;?ti.@@?’\’aS TIE D9 WRUITHN FFNT 03599 B0t IBODNY ?

(A) &BReTES TITFODE 3,007 HTT,T TR ANIF

(B) eBperiss SSEdns: 6is

(C) BeBHONE) BBERMFT TS0 AoHOYFTITIN WFTIHI
(D) ©BReT TN SISO BT WNBEOS AHIS

Which of the following is not a characteristic of health compromising behaviour ?
(A) Being intimately bound up in the self-presentation process
(B) Being pleasurable
(C) Sudden development of such behaviours
(D) Being related to the larger social structure
B3 FPNT 030 T @8@@7‘\’6@9@0&7‘? T m@f?mgw mwmﬂwwg ?

(A) R-BEBES B3 oHoHd MmN IAENRZLRDD
(B) 38303 0QTIHI

(C) ©o3® =ITING 3%8@ WTRTB

(D) TS® AIRT ﬁ@‘é’o&@o&ﬁ FOWOG BROOTIFH D

Ravi suffers from a daily need for use of alcohol, inability to reduce drinking and loss of
memory while intoxicated. Therefore Ravi is a/an

(A) Social drinker (B) Experimental drinker

(C) Problem drinker (D) Alcoholic
T 3208 Eb’adéw_ad SRR TO0T SR0TINRFTN BRI TR TPBUINT

VT, BTN 7, 1@ m@ﬁ%@&%fmmagﬁ. SO0 TOZD

(A) AOTVT BDET (B) @oﬁ@@ﬁé BEOT
© Tw’ﬁamééé'é BOEOT (D) ﬁadé ﬁéﬂ"&
In which stage of the GAS are the body’s resources fully mobilized as a reaction to stress ?
(A) Shock (B) Resistance
(C) Exhaustion (D) Counter shock

oS § OIem BOIRO FRE 3ot BDELETIN  wIRE, B230H0iwN
BR,ReEBNTOZE ?

(A) 578 (B) @%é’@@cﬁ
(C) Q=% (D) TWBeeg w578
Space For Rough Work
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37.

38.

AIDS impairs the body’s immune system by destroying or disabling the immune cells called
(A) T-4 helper cells (B) B-cells
(C) DNA (D) T-4 helper cells and B-Cells
DG BREMey 030 Tween JBREFT &@Q?ﬁh’%ﬁ@l JIWYTOOT 9 33\&)033-
R TO0T BeHT B, 23weey wéa‘?goia@l 20e3TRRIITA ?

(A) T-4BT0NT 3RCSND (B) B- 3pe3nsd

(O &.oxf.. (D) T-4RZo030T FBND 03 B- 3ee3nsd
Assertion (A) :  Hygiene factors are zero motivators.
Reason (R) : The employees performance is also influenced by maintainance factors
as Herzberg proposed.
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).

©
(D)

(A) is true, but (R) is false.
(A) is false, but (R) is true.

wePT : TRLITT WO BT, B CTIND

00 | TWICWNTE T3TDRATOS em&aéeﬁn’@; TIONE VTIE BFOIND Ewésaéd 903-
NRoTUR TLPIRUEITE.

ToICINYD :

(A)

(B)
©
D)

2P I TTNITER RO DT TOHP RPIOD  ADJET
NWTBOIPNT

eI AN TOTLINST R RO SN TITLOY BeDF0N HWIDTJE T DTTBODY
XePT AO BTT T I
XedT Ty , W3S FTE AO

Space For Rough Work

12 07- A



39.

40.

Assertion (A) :  Projective tests uncover the unconscious drives without a person
knowing of it.
Reason(R) :  The TAT explores hidden unconscious content.
Codes:
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.
xed3F wééoia eﬂ@é’)gdoé’ 833 A 23@33 BRETINT 33’)%@ wb@@ nsd RRT

STHTS.
TOTD © L3.0.83. 56@%0333 WBENT AFECSTE 2.790TTRY, BRCHRIT.
Todesnsd :
(A) DT T TONTTER HO I To0Ey HPI0D  TaDTJET
QNTTHBOIPNT

(B) X3 AN TITONPTHBH O SN FTITLOY DeDIOD ReIJEB é’)ﬁds‘a"oﬁ:@
(C) Bed3 XD =TT 9T THY)
(D) Red3 Sy, 50T 9T RO

Match List-A with List-B.
A B

a. REBT 1. Skinner
b. CBM 1i. Aaron Beck
C. CBT iii.  Michenbaum
d. BT iv.  Ellis
a b C d
(A i i1 i v
B) i1 il i v
©) 1v moooi i
(D) noi 1ii
Te3-A of’uaofbﬁ’ TE3-B O BROD.
Ju3-A Ju3-B
&3 &3
a. REBT i %&QIUG
b. CBM ii. 500 2330
C. CBT iii.  owdaferest
d. BT iv. Q&=°
a b C d
(A i i1 i iv
B) i1 il i iv
© v i i1
D) iv i i iii

Space For Rough Work
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41. Match List-A with List-B.

/e o o

(A)
(B)
©
D)

A
Schizophrenia
Moderate Mental Retardation
Cancer
Family stress
a b c d
iv i i ii
noi i iv
i i v

m o oivooui

e".)’éé—A odnodn &’%—B oD, BRODY.

(A)
(B)
©
(D)

o‘o’%—A
2,22.0053 LO3D i
ESplapiela &D%modéa" ii.
ILDE T TREN iii.
F9e000T 23T iv.
a b c d

v i1 i1
1 i iv
1 VS VB \'

m ivooui

B
L Axis-1
1. Axis-II
mi.  Axis-III
1v. Axis-1V

esgms-111

esEe-IV

~

42. Which of the following is not a dissociative disorder ?

(A)
©

Depersonalization disorder
Brain washing

(B)
(D)

Fugue state
Factitious disorder

35 BYNTYNVE oI MJeHT et (VD) TY ?

(A)
©

03T D72
HBRC-BOTIER

(B)
(D)

TERDONTIOD 9(3;%
—;Jméoef 5)&;33

Space For Rough Work
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43. Match List-A with List-B.
A

a.  Unpleasant stimulus is presented to
decrease behaviour

b.  Unpleasant stimulus is removed to
increase behaviour

c.  Pleasant stimulus is presented to
increase behaviour

d. Pleasant stimulus is removed to
decrease behaviour

a b C d
(A) i il i iv
B) iv i i il

© 1 i iv 1
D) 1 il i iv
e".)’éé—A odnodn &’%—B oD, BRODY.
o—o’é.ga-A
a. ﬁé?&)ﬁ)dg{ TRINNPITLD 8:97-4033%
TUBRCTS ACTDNF
b. RI330D ?g)fbﬁ’ eﬂ%’oéae—g 53’)23@663053
(]
ATDRE VS
c. TIES FAR 0BT BpACES e@E
d. I3S FRIRPIRLD —-N’oéae—g 53’)23@663053

AT
a b C d
(A) i il i iv
B) iv i i il

(©C) i i iv i
D) i i il v
44. Stress inoculation therapy is a form of
(A) Cognitive Behaviour Therapy
(B) Cognitive Behaviour Modification
(C) Behaviour Therapy

(D) Rational Emotive Behaviour Therapy
CT e @%@@Q@ﬁ@l £a§;bw W BOZY) RAWT VP

B
1. Positive reinforcement
ii.  Negative
reinforcement

iii.  Positive punishment

iv.  Negative punishment

=3-B
)

L FTE,T I2WUT

ii. 93m3,3 TBwLT

iii. 03, 33,
iv. 9%0m93,3 33,

(A) Qe (B) 2.2.%0.
(C) D& (D) &T%.a..L3.
Space For Rough Work
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45.

Statistical procedure used in explaining the characteristic of the sample are referred to as :
(A) Inferential Statistics (B) Parametric statistics

(C) Descriptive statistics (D) Non-parametric statistics
,3WONTT ™D @%9@&’@1 QTR T'«J’OQJD&SE’EQQOSJ AIADINEN)

(A) M@éééﬁomémﬁ (B) Z:Ton&eon Tw’o@.méem,—w’
< <

(@) é’)ﬁdmééb" T‘«J’OSJ%E’ET‘«J’ (D) ©9TTO0SCOD —-N’oméem,—w’
< <

46. When the data is small and scattered a good measure of central value is :
(A) Arithmetic mean (B) Geometric mean
(C) Median (D) Mode
T303) :is;aa @amsacségcﬁ% £2§% TATEITY moﬁcgé’, aﬂg)oia B“’Qo@@oﬁa wf@e)é@
(A) T\’Eé@?éé'v” ROIRO B) 6’@&733&%’ ROIRO
(©) ez (D) HRpesw
47. A variable which can theoretically assume all values within certain interval is known as :
(A) Continuous variable (B) Discrete variable
(C) Qualitative variable (D) Intervening variable
ﬁ@m@oéémﬁ NOEFH F39¢) WoZTITY BROOTVEE TOTIE Y
(A) doosT ?‘5635359 B) é’)éo"’& 363355
© Tbmééﬁ 3383536? D) ﬁadéwég 363355
48. A Psychological scale of measurement which has an “arbitrary” zero is popularly known as :
(A) Ratio scale (B) Interval scale
(C) Nominal scale (D) Ordinal scale
QOTIL) SRTETY BRODTOE DBRETIVTITTY DOTH F3030TT.
(A) ODTT B (B) 03T Tmo®
(C) JTo033 3’3)@5} (D) %@55%3 @’)m@
Space For Rough Work
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49. The formula used to calculate relationship between two variables is :

Ty ) o , X
NGxGy ' N ' N

D 6x.d?
4. o7 of 5. 1—N(N_ 5
N TN,
(A) 1and?2 (B) 3and4
(C) land5 (D) 2and5
ITE TOTFENY ST HoWoFTTY Fo@BRoDEd B3 IINT 0INT BRI,
WFRITOZE ?
xy ) 2 3 X
NGxGy ) N ) N
D 6x.d?
4. o7 of 5. 1—N(N_ 5
N TN,
(A) 1332 B) 3=R4
©) 1335 D) 2:HR5

50. A research involving a direct execution with the objective of obtaining workable solutions
to the given problem is :

(A) Exploratory research (B) Action research
(C) Survey research (D) Descriptive research
20T Tw’ﬁ)?ﬁ’éﬁ YUTOINT TOT/ITITY, FOLEI B OINED m@eeﬁa@’% T-Jo&@@tﬁ£o$3§gl
DT,
(A) 3Bne¢ PE,T (B) 303083
© T'«iébeis; (D) =THE T
51. One tailed test of statistical significance is used to test
(A) Universal Hypothesis (B) Null Hypothesis
(C) Directional Hypothesis (D) Alternate Hypothesis
FHOATRTIA oD TEIEoDI0DH TPV TOEE 0 BOed WL WIRTMDIT.
(A) TTET IR (B) S TR
(C) ABEedT T,FOR (D) TO TRFOR
Space For Rough Work
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52.

53.

54.

In which of the following research, after effect of an independent variable is studied ?
(A) Experimental research (B) Expost facto research

(C) Correlation research (D) Survey research

8 IINT oINT FoZeFIoNY FB0Z, WB00IT FoITE T[PBIBTY  BFODS
SRBEERTHIS ?

(A) T,0306N3 BoBReTS (B) 330630 RoBRCTI

(C) RTF0W0T RoBReT (D) BesY, WoBRETS

Which one of the following is Post-hoc test used to find out the significance of the
difference between more than two means :

(A) 7 test (B) ‘T test
(C) ‘F test (D) Schefe’s test
&od%&oé £a§§ HOIRONY ?DZSQSZS TERCO Séma@’wcﬁgl ﬁ@@%ﬁ’@a & IYNS oo

BPCRE T TOCE, WIBTHIT ?
A ¢ ’a’@e% B) ’ESSG%
(©) ‘F =0e3, (D) e [oed,

The possible mode for the following distribution of scores is
BINT WOBNY DTTBN RRCHET Y, THEEA.

Scores/wosnes f

35-39 4

30-34 6

25-29 8

20-24 10

15-19 8

10-14

5-9 2
(A) 28 (B) 16
) 22 D) 12
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55. Non-parametric statistic are used with the assumption of
1. Normal distribution
2. Estimating parameter
3. Ratio scale
4.  Sample size are often less stringent

(A) 1and2 (B) 3and4
(C) land3 (D) 2,3and 4
LITVTOLNSCON —-N’oméz’m—g;afsgl 33 TYAS o33 emé@fn’@ocﬁ w@m’e&c&gd’ ?
1. mmsé DITHB 2. TONSO L9092
3. OTT BHP 4. [P Mg, MeIoTEoN 3R 3O
(A) 1332 B) 3=R4
(C) 1333 (D) 2,334

56. Which of the following research design is not an experimental design ?
(A) True experimental design  (B) Within group design
(C) Between group design (D) Correlational design
B3 FPNT 030 BB é’)mg_w’ Z03eeNT &m@’ﬁg ?

(A) Qs T3ReNT QTR (B) ©03T FpAT IR
(C) @030 BB DmE (D) RS RowoF DR

57. In a normal distribution, the score with a percentile position of 95 indicate

probability.

mm% DITHBODE 95 J¢ STo0T w@adﬁaﬁg TRODT 0T Tw’omﬁéé’ojscﬁgl
(A) 0.95 (B) 0.05
(©) 0.50 (D) 0.20

58. Correct sequence of Panchakosha’s is

1.  Annamaya 2. Pranamaya 3. Manomaya
4. Vignanamaya 5. Anandamaya
(A) 2,3,5,4,1 B) 1,2,3,4,5
© 3,1,2,54 D) 2,1,3,4,5

T023 BRCTT BOOIPT OVTFONTIR) WBAWD.
L. eg=hod 2. TLITOD 3. SDIRCDO
4. 5)85%3&3033 5. &T0TDON
(A) 2,3,5,4,1 B) 1,2,3,4,5
© 3,1,25,4 D) 2,1,3,4,5
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59.

A researcher intends to study gender differences in which there are 35 Females and 65
Males. In order to test the hypothesis which of the following sampling method are used ?

1. Incidental sampling 2. Cluster sampling 3. Random sampling
4. Stratified sampling 5. Purposive sampling

(A 1,2,4 B) 3,4,5

© 2,31 D) 4,3,2

35 0000 THF; 65 FORT SRS omeledH TFYSoD BOeYTEL FoBeFEd
83 FYNT OIVT TBBODT DGOSR WIS ?

I B0mHEE FREODS 2. Febe® BIWobE 3. CIRGEE TBEoHS

4. HOMBS BRWODS 5. VDT T,2BWoHI

(A 1,2,4 B) 3,4,5
© 2,3,1 (D) 4,3,2
60. Match life span — development stages as given by Piaget :
List-A List-B
a. Sensory motor 1. 11 years onwards
b. Preoperational ii.  2-7 years
c. Concrete operational iii. 7 to 11 years
d. Formal operational iv. Birth to 2 years
a b ¢ d

(A) 1 v it il
B) iv i1 i
© 1 v it il
D) 1 il i iv
O3V ONHT L3P IODN 5037‘\’%’5’% Eﬂmga’amﬁ BRODY.
o‘u’ééa-A a’ééa-B
0TI IO i 11 SReE 03T
@Omo?’gjaﬁg esfelc) il. 2000 7 ¥R
SUROT $odoETs il 7003 11 SRe
BD300T @oﬁmzﬁds‘é’ iv. &%QOZS 2 D™RE
a b C d
(A) i v it il
B) iv i1 i
© 1 v it il
D) 1 il i iv

/e o oo
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61. Match the following :
List-A List-B
a.  Hippocampus 1. Arousal
b.  Hypothalamus ii.  Sleep
c.  Reticular activation system 1iii. Motivation
d. Pons iv. Memory
a b c d

(A) v idii i il

B) i i v il

(C) i i iv il

D) i i i v

TRODR 2TAWD.
LA %e-B
a.  oBPFYOTAT L eo3ens
b. £f@m@mﬁ ii. 3@
c. TBREo® wiPteRa® Rgo il B0
d. o8 iv. ®,8
a b c d

(A) v oidii i il

B) i i v il

(C) i i iv il

D) i i i v

62. Which one of the following perspective focus on development as a process of adaptation to
the environment ?

(A) Ecological (B) Ethological
(C) Life Span (D) Psychoanalytic

33 YNNI oo ZSQ)%E?\.@GS ﬁ%ﬁs@ﬁ’oﬁa@l a’@%’dé’ﬁ BROTE T;3,030030t0 Do ?
(A) @3PRRTE (B) amenRzeud

(O) ReAZozY (D) IeeDJeRB
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63.

64.

65.

Arrange the following in their correct order according to the Transtheoretical model :

1.  Preparation 2. Maintainance 3. Pre-contemplation
4. Action 5. Contemplation
Codes :
(A) 3,5,1,4,2 B) 3,4,2,5,1
©) 3,1,5,2,4 D) 3,2,4,1,5
£39,0° QOPDLITUE WO T FoT @%ﬁﬁ@ﬁ%@ﬁ@oﬁmd DTN 2B AND.
I Zpseags 2. ToOREpIRR 3. Rp=e8osI
4. 3% 5. Wo33
SO
(A) 3,5,1,4,2 B) 3,4,2,5,1
©) 3,1,5,2,4 D) 3,2,4,1,5
Health behaviour is influenced by
1. Genetic factors ii.  Perception of personal control
iii.  Perceived symptoms iv.  Health beliefs
Codes :
(A) i&ii B) i&iii

(©) i, iii & iv (D) ii & iv
SEAETLES FIES NPT BEPIRURIIT.
i 2es3peToET S0BBNE il SpDeT AoHOTHT BEE, WS

iii. TSB AT UT N iv. e;e&aen’éd [oNIND
SO, !

(A) 1 33’33_% il B) i 33’33_% 1ii

(©) 1ii,iil ﬁaég v (D) i1 ﬁaé_% v

An adolescent who begins to drink because all his friends are drinking is in which stage of
moral development as given by Kohlberg ?

(A) Punishment and obedience orientation.

(B) Instrumental hedonism.

(C) Good boy or good girl tendency.

(D) Authority and social order.
3F, PP NIODT T, REIATIT 202 FITEIF, 22y 38 TSR AX eDT; REIRLD

TCONATT WD FRCTUNTE TTTO ACRT a"gj%* DTIRT 030 TOSTOTOIZTYS ?
(A) é% I DTODIG BT
(B) =opmo —ab&ms%
© &)%Z) TOTIN WG aﬂg TENTIT T3S
(D) TRDT,FT 0T TITI0RT Tz
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66.

67.

68.

69.

A steriotaxic instrument is used for
(A) Making lesions in the brain (B) Producing evoked potentials
(C) Locating small structures deep within the brain

(D) Recording EEGs
260030 NITFTLOBRY R weReRrh3d.

(A) DY, FTRRRTALD (B) ITIWEE wHOTD 3 LVTIREED
(C) P eﬁ%fZSQcﬁaw a%%mﬁn’%’aﬁgl TSR 0
(D) R awdReD

Sex-linked genes
(A) are present on the Y chromosome
(B) are code for production of androgens
(C) are present on the X chromosome

(D) are present in both sexes
Oon FoWo oS NeH .

(A) Y Sc30B08000NH3E  (B) w08esda® evs@EHon Bodesnvonco3d

(C) X Bee3oBABR0BNHISE (D) HTREH OonEITH3IT

The plasticity of the brain is shown by -
(A) Long Term Potentiation (B) Putamen
(C) Dendrites (D) Axon terminals
SNTHIT 2305308 OMP0T TURNFTODT), BeeORTT.

(A) DEPETVRDGE BRW@NF (B) B3’

©) Cgo@ejésg (D) ICEDISURAINV
Rearrange the following steps in synaptic transmission :

1. Neurotransmitter opens gates on the receiving dendrites

il.  Action of calcium on synaptic vesicles

iii.  Neurotransmitter becomes inactive

iv.  Release of neurotransmitter

Codes :

(A) iid, 1v, i, 11 B) i, 1,1y, iil

©) v, 1,1, 1il D) ii,1iv,1,iil
33 YN %mé’éb’@ BIT BOBNYIY AOOIIT DTTTE R,

L SRCRtRIINNETE AETORES Bog, 5NV 0edT wonuy S0

. AT BRBOET e QSQOSJO TP

. TCD[TINGD 369:)15) odaﬁ@%fgogﬁ

iv. SCmomINT DENBOMHIE

SoIN

(A) iid, v, i, 11 B) i, 1,1y, iil

©) v, 1,1, 1il D) ii,1iv,1,iil
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70. Match the following :
List-A
Guilford
Sternberg
Thurstone

SIS

Spearman
a b c
(A) iii i iv
(B) iii i i
(©) i il v
(D) i v i

BROAY 20TAND.
Te3-A
&3
a. NUSPEE
b. T-ga@gwrﬁg
c. BRTUIC
d.  REPTIDI®
a b C

(A 11 1 v
B) 1w 1 1

© 1 1 1v
D) 1 v il

il.

1il.

1v.

i1

v

i1

i1

v

i1

il.

1il.

1v.

List-B
Multiple intelligence
Two factor theory
Structure of intellect
Atomistic theory

=e3-B
2TOTND WQBE
Q5907 WoQTT AT03
@ -° (]
23908 BT

ENTFEIS %w{gos

71. Time and motion studies classifies each unit of job into

(A) Ergs
(C) Movements

(B) Therbligs
(D) Skills

T I WOT WF0NIND mﬁ,@é@ﬁa’ T,3 TITXIR DOTH TNECTORVTR.

(A) ande (B) oMY,
(C) Bl D) @5@5
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72.

Match the following :
List-A
a.  Rogers

b. Maslow

C. Robert white

d. De Charms

a b c
(A) i i iv
B) iv il il
((©) I T T R 111
(D) iv il i
TRODR 2TAWD.
A
a. TwRewo?
b, &Rae

List-B

1. Self actualization

ii.  Fully functioning

iii.  Concept of control

iv. Competence motivation
d
iii
i
v

i1

=e3-B
&3
i e;e%ma&mgﬁ

ii. HOTRLET ToONEITS

c. OoustE B il oPoZHE BOBYF

d. &e mwsfg

a b
(A) i i
(B) iv iii
© i i
(D) iv i

c
v
ii

11

V. ©%30h LB

11

v

i1

07- A
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73.

74.

Match the following :
List-A List-B
a.  Mental image 1. Blocking problem solving
b.  Functional ii. Using problem solving patterns used in the
fixedness past successfully
c.  Mental set iii.  Search for evidence that fits one’s beliefs

Confirmation Bias  iv. Picture like quality

a b C d
(A) iv i i il
B) i ii i iv
© i i iv o1
(D) i il iv i

BROD LTBOWD.
c:_a'%-A = -B
a. TOTRT 2o i ?)’ab—a?é ?Bmds“’aodomd SEoPH
TOOIDE BT §d§ ii. &od ONTROI/N  WFAZ TJ?)JTS:S ATpletao)
SRTOODZ, WA
c. SOVAT R lii.  2)T 03N  RATATHTST m%;éﬁ@r?
IO TR T
d. JOZ[pecrs e iv. 233, Qeeenss motansd
a b c d
(A) iv i i dii

B) 1 no i v
© i i iv o1
D) ii i iv i
Assertion (A) :  Daydreaming and thinking are the cognitive functions.
Reason (R) : Excessive day dreaming is not healthy.
Codes :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.
ST : BN NI DY SARWINT BOWRTT,F FoOETIH
FT : B0IPT TNREL NI STRETFTTY

TodeeNned :

(A) 293 EAVCY TITLONST R RO S0 TITEDY ReDI0H RNTET WNSTBOINT
(B) Ded3I R TICLONSTHBR RO SN FTITEIR) BeDIOD BT T é)wc’s“’aojag
(C) TeP3 =D T3 5900 IP), (D) Xed3 3P, T F900 RO
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75.

76.

Assertion (A) :  As reliability increases validity also increases.

Reason (R) : A test measures what it purports to measure is the essence of validity.
Codes :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

xed3F : &5%%’3@05)30533 éaidoé’ %o@%@ £23®23ﬁ3§a"

TO0D %o@%d AT03RP0TT ﬁ@@%oﬁw OV TTY, S[PI aﬁm@’&?@@@écﬁ’oﬁme
@ZSR;Q WIVTJI IV .

ToICSNYY :
(A) 2D GAvICy) TIOLANSTBH RO DT FITIY) TeDBOH  ADJIET
DWTHBOIIINT

(B) X3 AN TITONPTHBH O SN TITLOY DeDIOD ReDJEB é’)ﬁds‘a"oﬁ:@
(C) e XD sTT 9T T,
(D) Red3 Sy, 50T 90 RO

Assertion (A) :  The arousal approach tends to emphasize on the organism as whole.
Reason (R) : We can understand behaviour by understanding how the organism
becomes activated.
Codes :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false. (D) (A) is false, but (R) is true.
SRR : YUBRT YVTNEDTY) 22CNONTY, REBOITN 2,33 Y TN,
TOUD © 22CNOIN O30 O em%%%émmgd’omda% %@Zﬁa@@%@@dﬁ eesbplelcief

D05 FWSEROD :%@c:b'&@%;wwam.

ToIC3NYD :
(A) 2D GAvIC) TIOLANSTBH RO DT TITIY) TeDBOH  ADJIET
DWTHBOIIINT

(B) X3 NS TITLNTT R RO S TITLOY BeDIOD ADJE T é’)ﬁds‘a"oﬁ:@
(C) e XD =TT 900 T, (D) XePd TP, T3 FT AO

07 -
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77.

78.

Assertion (A) :  An individual awakened from REM sleep reports mental activity.
Reason (R) : People awakened from NREM sleep always reports dreams.
Codes :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.
ReRT : WO Q.00. AT 00T eba%g B3R TWTVT 3,03 BOB BT,

FOTLD : DJT.LTF.R.00. ATW,CN0T @?%g TTO OTTIETINED FIAL B0y BeHTIT.

ToIC3INYD :
(A) 2D GAvIC) TIOLANSTBH RO DT FTITY) TeDBOH  ADJIET
DWTHBOIIINT

(B) X3 AN TITONPTHBH O SN TITLOY eDIOD ReDJEB é’)ﬁds‘a"oﬁ:@
(C) e XD sTT 9T TR,
(D) Red3 Sy, 50T 90 RO

Assertion (A) :  Distress is useful for personality enrichment.
Reason (R) : To be totally without stress is to be like dead.
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

2ed3F : Sﬁ% PEIN 3)33@3&3 WSt YOTJOINT.

FOTLD : HOTHEIE TN LZEAYT0STYHTBoTT A0S,

ToIC3INYD :
(A) 2D GAvIC) TIOLANSTBH RO DT FITY) TeDBON  ADJIET
DWTHBOIIINT

(B) X3 AN TITONPTHBH BO SN TITLOY ReDIOD ReJEB é’)ﬁds‘a"oﬁ:@
(C) e XD =TT 900 T,
(D) Red3 Sy , 50T 90 RO
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79.

80.

Assertion (A) :  Stress can be viewed either as a response to a stimulus or as the stimulus
itself.
Reason (R) : Teaching people to relax deeply can be helpful in lowering stress.
Codes :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.
xedF Wy 2.0 @23@@(33?? %@@oﬁa P9 2~§C§£Q W0 @’)23@663033063

QRNRLITOTING.
FIOTLD : WION DEFT N ST LAY TITY FTORPTO0T ©TT G AT TR =IVBE
[aGSDlesiIaDlguictal
TodeSned :
(A) D3 ANy TITLNSTHR RO NZY  TITLOY TePTOD  ADNJET
QTTHBOIPNT
(B) Xed3 AN TOTLINST R RO S0 TITLOY TeDFOD ADTJET é’)ﬁds‘é’oﬁ:@
(C) e XD =TT 900 THY)
(D) Red3 Sy, 50T 90 RO

Assertion (A) :  Sedentary professionals are easy victims of Cardiac disease.
Reason (R) : Health and stress are highly correlated.
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.
2D : ,0TWe FEN DI FUR 0T %%5663 %doﬁa 0WOH &@Gﬂ’é’% oSN

IT]YIHTT.
FOTLD : e;e&@en’é T WIEND WBIR) ABR0W0I.
TodeSned :
(A) 23 EANCY TITONPTBH RO NZY  TITLOY TeDBOD  FeDTJET
QTTHBOIIONT3

(B) X3 AN TITONPTHBH O S0 TITLOY DeDIOD ReJEB é’)ﬁds‘a"oﬁ:@
(C) e XD =TT 9T TR,
(D) Red3 Sy , 50T 90 RO

07 -
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81.

82.

Assertion (A) :  Divergent thinking is closely associated with memory.

Reason (R) : In divergent thinking one thinks in different direction searching for some
variety and novelty.
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

SBeRF 1 AP, 03ReRFOI0 A, (BT ABROLIORAT.

RUD : IDF, sclecsSond o AAF BN ol HRFI R

HITT, BRDDIHTS.

TodeSned :

(A) D3 ANy TITLNSTHR RO NZY  TITLOY TePTOD  ADNJET
QTTHBOIPNT

(B) Xed3 NS TOTLINST R RO SN TITLOY TeDFON ADTJET 53369‘80339

(C) Bed3 XD sTT 9T TR,

(D) Red3 Sy , 50T 9T RO

Assertion (A) :  Behaviour content is related to social behaviour.
Reason (R) : Social behaviour is in the form of verbal meaning or Ideas.
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

TedF | TITTON 2P0 FOTINT I N ROLOPAT.

TR : AISIIRT ST R0Z0 TIDT WFE W VT NY 30mO 03N G,

ToICINYS :
(A) 23 GAvIC) TIOLANSTBH RO DT TITY) TeDBOH  ADJIET
DWTHBOIIINT

(B) X3 NS TITLINTT R RO SN TITLOY BeDIOD ADJET é’)ﬁds‘a"oﬁ:@
(C) e XD =TT 9T THY)
(D) Red3 Sy , 50T 9T RO
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83. Arrange the following in correct sequence of neural control of thirst :
1. Supra optic nucleus
2. Increased water retention by kidneys
3. Nucleus circularis
4.  Cellular dehydration

Codes :
(A) 1,3,2,4 B) 2,3,4,1
© 4,3,1,2 D) 4,3,2,1

27903390303 FTS0B0 AONOT LT AVTE T Toaswy, BRCRD.
1. @63 S0dees 2. BRIR0EE ©S0INT BUROTH
3. JICBABTARDEFWDORT 4. BeSTecInOT w0Wes3

Todesneh ¢
(A) 1,3,2,4 B) 2,3,4,1
© 4,3,1,2 D) 43,21
84. Match the following :
List-A List-B

a.  Procedural memory 1. Difficult for conscious awareness
b.  Declarative memory il.  Awareness of processing
c.  Implicit memory iii.  Episodic memory

d.  Explicit memory iv.  Skills and habits

a b ¢ d
(A) iv il i il
B) i i i v
(C) i i iv i
(D) i iv i i
TRODR 2TAWD.
e-A %e-B

a. QPIIOIZT R, 43 1. N3 DA LTI

b. TFWEZTH, S i STTOTHRFOD WO

c. RFF,,® il TEIIIZTH, @

d.  wRHTE, 3 iv. DIUSNH DR 8:92,3367\:’7\’%

a b ¢ d

(A v 11 1 i1
B) 1 VS 1V B\
© 1 1 v o1
D) m v 1 1
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85. Match the following :

List-A List-B
a. Recall 1. First and last items in the list are recalled better
b. Recognition il. Information pulled out of memory

c. Serial position effect  1ii. Lasts up to four seconds
d. Echoic memory iv. Matching information with stored facts
a b ¢ d
(A) i1 v i iii
B) i i i v
(C) i i iv i

D) m v 11

BB LSO,
Be3-A =-B
2. BIWOD i BN BeTw I IeBoD BoBNYR
HOO3PN T 7, TR
b, THTHIDAP i %, 20008 SGI0HT, BATIHRHI

c. ATD WIS BOmH il.  Doen, NFomondn m@dﬁ@%}%&;‘)m

@

d. dnerst R 3 iv. RN wo3ngrodn S1&baod Beedd

a b ¢ d
(A) i v i iii
B) i i i v
(©) i it ivod

D) mw v 11
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86. Match the following :

List-A List-B
a. Short term memories 1. Amygdala
b. Procedural memories ii. Frontal and Temporal lobes
c. Semantic and episodic memories iii. Cerebellum
d. Memory for fear iv. Cortical prefrontal and temporal lobes
a b ¢ d

(A) 1 i il 1v
B) 11 1 v 1
© v 1 1 1
D) w1 1 v

BPOQR W3OWD.
BJe3-A we3-B
& &
a. wozdsF O i wdno
b. DFWF F, B ii. P B3Iy HoBRTT® Snee,
C. UFENDET DR FLWIFF, @  iii. ASIYo
d. 2JoDBF, @ iv. TARIETLP LT/ OWSE THF)

$30R3pTeF Spersh

a b ¢ d
(A) 1 i il iv
B) i il ivod
(©) iv i i1
D) i i 1 iv
87. Which of the following is true with regard to Hippocampus ?
1. Itis responsible for new long term memory storage.
2. Past memory are stored for few minutes.
3. Itsremoval destroys the ability to store anything new.
4. It causes retrograde amnesia.
(A) 1,2and3 (B) 2and3
(C) 3and4 (D) land3
&%@@éoa'ﬁe 20303 & IFNTPYNFE o3y cd = ?

I O SR8 Qepezeds 3, 3o Ronwsn &:m9eRdo3eNS

2. TJLOD Tw’éds‘a@ﬁ%faigl Q) ANARNYTTN RON AT

3. wdR VTR OINNRDITT BRA DJWOD Tw’orj)ws‘a"oja mﬁa%g Sé?bgd’
4. T LPRBTTITTPRE 0Ty 6’@@7\'3@0&33 m@gd’

(A) 1,223 (B) 2023
©) 34 D) 1053
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88. Match the following :

List-A List-B
a.  Somatic symptom 1. Anhedonia
b.  Cognitive symptom ii. Migraine
c.  Affective symptom iii.  Restlessness
d. Behavioral symptom iv. Amnesia

a b C d
(A) i i il v
B) i il iv i
© i v i iii
D) ii i i iv

BROD LTBOWD.
®e3-A =e3-B
& &
a.  Zo0COT LT ANIED i egieedod
b. HozRIFF BN il @3 ST3eey

c. apawmsés e)'u;san’%fa iii. BRI
d. MCIED) e)'u;san’@;a iv. é’m’é Q);%
a b C d

(A 1 VS 1V I\
B) 1 1 v 1

© 1 v 1 11
D) m 1 1 v

89. The internal consistency of a test measure can be established through

1. Test —retest reliability. 2. Split — half reliability
3. KR-20 formula 4.  Inter scorer reliability
(A) land3 (B) 2and3
(C) 1,2and3 (D) land4

a’@e%oﬁa 30307 %Zﬁé’oﬁa&i&d B IPNT 005y TOOT Fom Bo@ojawﬁaga" ?
1. a’@e% Qs a’ae% DTIAACODI 2. NI WFE DTIAACODE

3. 3.e30°. 20 om0 eR 4. ©03T WOINY VTYAICODE
(A) 133 (B) 2033
©) 1,233 (D) 1034
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90. Which of the following methods are used in qualitative research ?
1. Interview method 2. Experimental method 3. Corelational method
4. Case studies 5. Ethnography
(A) 4,2and3 (B) 3,2and 1 (C) 1,5and4 (D) 2,4and5
B3 FPNT O30® VPR @33 Bo3ReER0DE @3 ReNFLRMSE ?

1. BoBBER 5o 2. THOSRENE AT 3. RS WOWOF GO
4. S OPORI AFIT 5. PTIRCTID
(A) 4,283 (B) 3,251 (O 1,584 (D) 2,435

91. To test the effect of intervention on enhancing performance of students, which of the

following statistics is appropriate ?

(A) ANOVA (B) ‘t test (C) Dependent ‘t’ test (D) Correlation
é’)ma@EoSJ RO&E%@B"O&@ £z§fbﬁ@ ﬁaa’éﬁéﬂﬁa @’)&Eﬁa’@l a’@@%f_ﬁ@a 2 FIINS

038 HoaRFIY & BB o3RTIIING 7
(A) @3 (ANOVA) (B) t 3063, (C) 6BwoddS t 303, (D) RBROWOT

92. Arrange the following ‘r’ values in terms of magnitude of relationship from low to high

83 IINS T’ SPYUNIT, FREHANOT RLFETNT FOWOFE TES0es SHIsE &3¢S

R0TEIIN W3AND.

I. -0.89 2. 072 3. -0.5 4. 0.6
A) 1,2,3,4 (B) 2,413 © 4,321 D) 3,421
93. Arrange the following in a sequential order as per the hierarchical theory :
1. Self-Actualization 2.  Belongingness 3. Basic
4.  Esteem 5. Security
(A) 3,5,2,41(B) 1,2,3,4,5 © 2,1,43,5 D) 5,4,3,21
=g é’%fﬁs@n’%f@lﬂ’aomd Zenrd) Beeky.
1. e;e%ma@gqp 2. HOWORRTITYTD 3. Dwew
4. RTDTOD 5. —Abd%
(A) 3,5,2,41(B) 1,2,3,45 © 2,1,43,5 D) 5,4,3,21
94. The Pituitary gland secretes following hormones :
I.  Oxytocin 2.  Epinephrine 3. Glucagon
4. Vasopressin 5. ACTH 6.  Cortisol
(A) 1,3,6 (B) 4,5,2 © 1,4,5 (D) 1,4,6
DL NeROIL 83 IFNT mﬁmm&ﬁ%ﬁ@l%&—fa’ogd’.
1. e3Ednednt 2. Q3G fF 3. mdeenat
4. SRRCBY 5. QRe3Test 6. TordARLCUT
(A) 1,3,6 B) 4,52 © L45 D) L 46
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9s.

96.

Extinction is one of the Behaviour modification technique based on the learning principle :
(A) Operant conditioning (B) Social learning
(C) Classical conditioning (D) Cognitive learning

‘@Y’ 20T WIETD FWVTJE RFANTOD NFINN B IFNT 035958 FOT AONTDT

230ee3 e35903eN T ?

(A) 3033 DO (B) A3 303
©) m@) CO WRVWOFS (D) HozRTT,T 33

Read the following passage and answer the questions:

Research is a scientific systematic process. Researchers in psychology fulfill the
criteria of scientific method by adopting experimental methods in investigating a particular
phenomenon. Experimental and laboratory methods are found to be more accurate because
they enable the researcher to control the variables. Classical studies in psychology on
sensation and perception have lead to more accurate generalizations. However later theories
of human motivations, personality etc, have limited scope for generalizability. Humanistic
and positive psychology have recognized the importance of subjective experiences.

FPNT 3TY TRIOPITY L& 96 Doz 100 ernelaty @’)%ﬁ@ﬁ YVZDA.

FHOBREFIOIN 2507 363933 a‘;asgi%’ ?3’)3%)033 Ro3RCFITO ﬁ@%mﬁ @oﬁ@@ﬁfﬁ
NPIDNYTY WIAT FDHRVT 53530533& TOmD 80650533336’. @oﬁ@@ﬁ%’ EANCY @oﬁmeﬁ
E’Tawéé'é NFPOVNY  AWTND.  NIOTT  BYNYd  HOSRCFI™ a’@aﬁéégﬁ%f@l
DONOZALL FTIOH m@bgd’ HORCTN EANICY %35@&7532?55 03 533@@50233,3%‘
m@eoﬁ: WFODIMYD DaUTN e YLFTEITTY BRODEN. BWT WHIBLTH DI
wéé%a’@l OB B8R03TT %m@oéﬁ% WO ZLTTED AONT méé’jojaaigl BRODT.
EAVRINTMCDINDI A SICH) Eﬁm%ﬁ” 33?&@@5)%%55@ ﬁﬁw%é LVIDING 33533&5@1 TSRS,
Which of the following statements is true ?

(A) Inexperimental method, control of intermediary variables is not possible.

(B) The merit of experimental method is that it controls extraneous variables.

(C) Experimental methods are not suitable for psychology.

(D) Psychological researchers try to adopt simple method only.
BINT 03w BeOT A ?

(A) TRO3RNE AFORTE HTFE BOTIENY JoDOTEL MWFAY
(B) &,03R¢NT QIR B,030e88[800T LT, BOTZE Y AODOZR
(C) HB0ee T3, TO3RENT DI BRTZY

(D) HR0eapsn DT HoBRGFTT: FPDT DTNy, LFRLIED
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97.

98.

99.

100.

Experimental researchers in earlier days were confined to sensory phenomena as
(A) Maximum control was possible
(B) Instruments were available to measure and control sensory stimuli
(C) Easy to conduct laboratory experiments
(D) Since studies were on animals sensation was used

BN0WBT BOBREFITY BOBCTROIN BOBREHFIN ACWSONTOT FITED
(A) Tw’oﬁed£o$3§gl £2§% Qoﬁo%wﬁ@%w@m
(B) Tw’od’edméé'c” @ﬁ@@dé’oﬁaﬁg{ EAVDLIN IS Qoﬁao%ww@l WIVTBED
QVTTO NG @2%5)63@(560(3
©) @oﬁ@@ﬁﬁ%f@l IV TBITY T ?’D@&Jmcgéod
(D) w_\a)eén’%f?)gl WFAT FToTRR0T %’od’@da"oﬁa@l WP
Generalizability of later theories was limited as
(A) Studies were on human beings
(B) Studies could not be under taken in laboratories
(C) Moderator variable’s influence was more

(D) Each psychologist believed in different theory
BTOITT AWOZT AITIE $LFTEITY cS0IDNTELR FITED

(A) SR ed BFODT BPAZOOE

(B) Bodeer 2aond ©F DT BREL MWFTNAD BT
(C) DTTE BOTIENY TEPS SRNCHHTOOT

(D) B SHdeededoto DO, A0SRy, SoRFOT

Studies based on Humanistic and Positive psychology emphasize on
(A) Method of experimentation (B) Controlled observation

(C) Participant observation (D) Emphasis on subjective experiences
SITRTIVD WY P9I, 3 33:&@@5)%%&5 9;95%033377%33 i DT, AN~
(A) =,03ReNT QT (B) Q0037 ©mdRe3s

(C) TBPAZ, w5Sees (D) P38 W

Researchers in Positive and Humanistic psychology often used a non-probabilistic sample.
Hence it is more apt to use

(A) Descriptive statistics (B) Purposive sample

(C) Non-parametric Statistics (D) Parametric statistics
SITDTTD TFY P, T 33?&@@5)%%353’ Eeto¥oldnt:ion) 8:97'4021333553? T,3WONTDIY
2FR0SIT. Slatelely T, WIRRH T ARSI,

(A) QWTHIZ,T Tw’o@JDaSE’mTw’ (B) 203edT B,22800

< Q

©) @m’m&a%@oﬁaﬁomémﬁ (D) a’m&a%eoﬁaﬁomémﬁ
< <
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